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Practice
8-4

Form G

Rational Expressions

Simplify each rational expression. State any restrictions on the variables.
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Multiply. State any restrictions on the variables.
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Divide. State any restrictions on the variables.
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8 4 Practice (continued)

Rational Expressions

25. A farmer must decide whether to build a cylindrical grain silo or a rectangular
grain silo. The cylindrical silo has radius ». The rectangular silo has width r and
length 2r. Both silos have the same height 4.

a. Write and simplify an expression for the ratio of the volume of the cylindrical silo to its
surface area, including the circular floor and ceiling.

b. Write and simplify an expression for the ratio of the volume of the rectangular silo to its
surface area, including the rectangular floor and ceiling.

c. Compare the ratios of volume to surface area for the two silos.

d. Compare the volumes of the two silos.

e. Reasoning Assume the average cost of construction materials per square foot of
surface area is the same for either silo. How can you measure the cost-effectiveness of
each silo?

Simplify each rational expression. State any restrictions on the variables.
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Multiply or divide. State any restrictions on the variables.
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31. Open-Ended Write three rational expressions that simplify to x_+1 .
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